# CS-23-320

# WORK AUTHORIZATION #03 NASSAU COUNTY BOARD OF COUNTY COMMISSIONERS

Consultant:	Hubbard Construction Company
<b>Contract Number:</b>	CM3359
Contact Name:	P. Frederick O'Dea, Jr.
Contact Number:	904-288-6300
Email:	asphalt@hubbard.com

Project Short Title	CURRENT WORK 2023/2024 Road Overlays	AUTHORIZATION		
		CONTRACT OVERVIEW		
Date Submitted	3/20/2024	Total of Previous Authorizations	\$3,991,784.59	
Amount	\$4,543,669.93	This Work Authorization	\$4,543,669.93	
Scheduled Completion	183 days after Execution	New Contract Amount including this work authorization	\$8,535,454.52	

This Work Authorization is to the AGREEMENT between Nassau County and Hubbard Construction Company ("Vendor") for Asphalt and Striping Services, dated June 26, 2023. The services to be provided under this Work Authorization are as follows:

### ARTICLE 1. Services Described as:

Vendor shall provide asphalt services to overlay roadways and intersections listed for fortyone (41) roadways in accordance with the Scope of Work, a copy of which is attached to the original Contract, CM3359, as amended.

### ARTICLE 2. Time Schedule

Vendor anticipates their earliest starting date to be three (3) days from receipt of execution of this Work Authorization with an estimated duration of one hundred eighty (180) days to complete the Scope of Work.

### ARTICLE 3. Budget

Vendor will perform the services outlined herein for the lump sum amount of Four Million, Five Hundred Forty-Three Thousand, Six Hundred Sixty-Nine Dollars and 93/100 (\$4,543,669.93). Vendor's fee amounts are detailed further in Exhibit "A". Vendor will utilize previously established rates set forth in Contract CM3359, at a discounted rate.

### **ARTICLE 4.** Other Provisions

The Services covered by this Work Authorization will be performed in accordance with the provisions set forth in the AGREEMENT referenced above and any of its attachments or schedules. Additional terms or contract provisions whether submitted purposely or inadvertently, shall have no force or effect. This Work Authorization will become a part of the referenced AGREEMENT when executed by both parties.

Any Work Authorization entered into prior to expiration or termination set forth in the AGREEMENT shall continue in effect through the earlier of: (i) the date all of the Services thereunder have been fully completed and accepted by Nassau County, or (ii) until such time as such Work Authorization expires or is terminated in accordance with its terms or is terminated pursuant to Article 2 hereof.

In presenting this Work Authorization, Vendor agrees that:

Unless detailed herein, all drawings, data, electronic files and other information required for this Work Authorization has been accepted by Vendor. Specifically, all electronic files have been reviewed and accepted for the purposes of this Work assignment. Any additional information, including detailed scope of services are attached.

AGREED TO BY:

BY: P. Frederick O'Dea, Jr.

Print Name: P. Frederick O'Dea, Jr. Title: President

Date: \_\_\_\_\_ 3/28/2024

[This space intentionally left blank.]

# **RECOMMENDED AND APPROVED BY NASSAU COUNTY:**

Department Head/Managing Agent:	Doug Podiak Doug Podiak	3/27/2024	
Procurement:	Kanace Almac Lanace Gilmore	3/28/2024	
Office of Management & Budget:	(liris Lacambra Chris Lacambra	3/27/2024	79
County Manager:	Taco E. Pope, AICP Taco E. Pope, AICP	4/2/2024	
County Attorney:	Denise C. May Denise C. May	4/2/2024	AJ
Ex-Officio Clerk:	*See below John A. Crawford		

APPROVED by the BOARD OF COUNTY COMMISSIONERS, this <u>22nd</u> day of <u>April</u>, 2024.

BOARD OF COUNTY COMMISSIONERS U COUNTY, FLORIDA

John F. Martin Qhairman

Only to Anthenticity as to Chairman's Signature: ATTES

John A. Crawford, Ex-Officio Clerk

Revised 11/17/2022

ÁCCOUNT NO.: 03461541-546550 L&O

# Exhibit "A" Vendor's Fee Amounts

#### HUBBARD CONSTRUCTION COMPANY

1936 Lee Rd., Suite 300 Winter Park, FL 32789 Tel: 407.645.5500 asphalt@hubbard.com



To:	Nassau County BOCC		
Address:	96135 Nassau Pl., Suite 1	Attn:	David Hearn
	Yulee, FL 32097	Email:	dhearn@nassaucountyfl.com
Phone:	(904) 530-6010	Mobile:	(904) 753-4005
Estimate:	6052-065497		
Project:	(NC23-006) Work Authorization TBD		
<b>Bid Date:</b>	03/01/2024	Addenda:	
Completion:	3rd Quarter 2024	<b>Revised:</b>	

Item	Description	Quantity	Unit	Unit Price	Ext Price
Mo	bilization (All Volumes)				
1.1	MOBILIZATION (ASPHALT)	23.000	EA	\$12,100.00	\$278,300.00
1.1	MOBILIZATION (MILLING)	10.000	EA	\$1,260.00	\$12,600.00
Hill	liard Area				
2.1	SP-9.5 (>2,401 TONS)	1,327.300	TN	\$ 172.00	\$228,295.60
Cal	lahan Area	and the second			
3.1	SP-9.5 (101-800 TONS)	1,402.800	TN	\$ 177.00	\$248,295.60
3.1	SP-9.5 (>2,401 TONS)	2,301.800	TN	\$ 167.00	\$384,400.60
3.2	SP-12.5 (>2,401 TONS)	4,421.300	TN	\$ 163.00	\$720,671.90
Yul	ee Area		-		
4.1	SP-9.5 (101-800 TONS)	2,029.000	TN	\$ 180.00	\$365,220.00
4.2	SP-12.5 (101-800 TONS)	532.300	TN	\$ 176.00	\$93,684.80
Fer	nandina Area				
5.1	SP-9.5 (0-100 TONS)	115.000	TN	\$ 396.00	\$45,540.00
5.1	SP-9.5 (101-800 TONS)	4,150.300	TN	\$ 194.00	\$805,158.20
5.4	FC-12.5, PG 76-22 (>2,401 TONS)	4,150.600	TN	\$ 188.00	\$780,312.80
Bin	der (In addition to ordered asphalt Item)			10000	
Mil	ling (All Areas)				
7.1	MILLING (ALL AREAS)	96,784.000	SY	\$ 5.15	\$498,437.60
Pai	nted Pavement Markings	and the second			
1	PAINT, SOLID, 4" WHITE	16,548.000	LF	\$ 0.45	\$7,446.60
3	PAINT, SOLID, 12" WHITE	799.000	LF	\$ 1.50	\$1,198.50
4	PAINT, SOLID, 18" WHITE	472.000	LF	\$ 2.25	\$1,062.00
5	PAINT, SOLID, 24" WHITE	829.000	LF	\$ 3.00	\$2,487.00
6	PAINT, SOLID, 4" YELLOW	8,274.000	LF	\$ 0.45	\$3,723.30
13	PAINT, SKIP, 4" YELLOW	8,274.000	LF	\$ 0.65	\$5,378.10
14	PAINT, DOUBLE, 4" YELLOW	6,032.000	LF	\$ 0.90	\$5,428.80
15	PAINT, DOUBLE, 6" YELLOW	2,463.000	LF	\$ 1.05	\$2,586.15
18	PAINT, SKIP, 4" YELLOW	2.980	GM	\$ 890.00	\$2,652.20
19	PAINT, SKIP, 6" YELLOW	2.969	GM	\$1,040.00	\$3,087.76
20	PAINT, SOLID, 4" WHITE	8.128	GM	\$2,360.00	\$19,182.08



GRAND TOTAL:					\$4,543,669.93
76	BIKE LANE SYMBOL	17.000	EA	\$ 331.00	\$5,627.00
71	RPM, BI-DIRECTIONAL	282.000	EA	\$ 8.95	\$2,523.90
0	ther Miscellaneous Items		and a second state of the		
T	hermoplastic Pavement Markings		-		
32	ARROW, LEFT/RIGHT	42.000	EA	\$ 52.00	\$2,184.00
31	ARROW, BIDIRECTIONAL	1.000	EA	\$ 97.00	\$ 97.00
25	MESSAGE, "R/R"	2.000	EA	\$ 179.00	\$ 358.00
23	PAINT, SOLID, 6" YELLOW	2.740	GM	\$2,760.00	\$7,562.40
22	PAINT, SOLID, 6" WHITE	2.829	GM	\$2,760.00	\$7,808.04
21	PAINT, SOLID, 4" YELLOW	1.000	GM	\$2,360.00	\$2,360.00

Respectfully submitted,

D-B-

Dustin Baker - Senior Estimator



				FY 2023/24				
COUNTY	NO.	STREET NAME	LENGTH OF ROAD	WIDTH OF ROAD	YDS	MILLING 1.5 INCH	PAVING 1.5 INCH	PAVING 1.25 INC
HILLIARD	01	ROWERDAD	8.274.0	21.0	19,306.0	0.0		1327
	01	RATUFF ROAD	20,097.0	24.0	53,592.0	0.0	4,421.3	
	02	MAPLEWOOD COURT	6,120.0	20.0	13,600.0	0,0		935
	03	HURST ROAD	2,970.0	22.5	7,425.0	2,612.0		510
	04	WOODLAND COURT	2/6.0	20.0	613.3	0.0		42
CALLAHAN	05	OAKWOOD LANE	1,143.0	17.0	2,159.0	0.0		140
	06	WOODLAND CIRCLE	9,134.0	19.0	18,268.0	0,0		1250
	07	KERN BLVD	1,158.0	18.0	2,316.0	0.0		159
	08	GAIL DRIVE	1,610.0	20.0	3,577.8	0.0		246
	09	JESSICA DRIVE	1,475.0	22.0	3,605.6	0.0	6	245
	01	CREEKWOOD DRIVE	724,0	24.0	1,930.7	2.152.0		133
	02	OT THOMASISTREET	1.751.0	21.0	4,065.7	0.0		281
	01	BAYVEWRD	1,405.0	160	28100	0.0	and the second se	195
	M	SHADY OAK DR	750.0	21.0	1,750.0			120
	05	DENE LASSERRE BLVD	1,609,0	32.1	8 452 1	0.0		444
YULEE	06	DIAMOND STREET	1.568.0	20.0	3,454.4	0.0		240
	07	STILLMEADOW LANE	939.0	22.0	2,295 3	0.0		155
	- 08	DOLPHIN WAY	5060		1,195.6	10.0	1	82
	- 65	LOFTON COURT	709,0	21.0	1,654.3	0.0		114
	10	JAMIE ROAD	979.0	20.0	2,173.3	- I		148
	11	RAVENWOOD DRIVE	1,871.0	23.0	4,781.4	5,208.0		329
	01	OWNE DR	1,306/0	22.0	3,192.4	0.0		219
	02	SCEB JAY LANE	580.0	16.0	1,160.0	0.0		60
	02	OLD AMELIA LANE	928.0	21.0	2.165.3	0.0		149
	04	CERA LANE	622).0	27.6	1,925.8	1842.7		132
	05	CAPRICE LANE	836.0	21.0	1,960.7	2,389.3		134
ERNANDINA BEACH	05	RIDGE COURT	220.0	21.0	513.3	0.0		35
	07	SANDPIPER LOOP	1,096.0	24.9	3.034.7	0.0		209
	08	FLORENCE POINT DR	2,157.0	24.0	5,752.0	5,901.3		395
	09	MANUCY ROAD	1,895.0	18.0	3.790.0	0.0		251
	10	SANTA JUANA ROAD	2.078.0	22.0	5,079.5	0.0		349
	- 11	ELLIS LANDING ROAD	1,714.0	21,0	3,999.3	0.0		275
	12	SADLER RD	7,225.0	62.7	50,310.1	50,310.1	4,150.6	
	13	MASSAU LAKES CIRCLE	2,653.0	24.0	7,074.7	0.0		488
	14	CAUSEWAY PLACE	349.0	22.0	853.1	1,657.4		59
	15	BOARDWALK LNDG	894.0	22.0	2,185.3	3,040.5		150
ERNANDINA BEACH	16	CRESCENT PARKE CT	437.0	26.0	1,262.4	2,117.7		87
	17	SCOTT RD BEACH ACCESS	575.0	69.0	4,410.9	0.0		303
	16	THERON COURT	619.0	22.0	1,513.1	0.0		104
H	13	MARSH HEN ROAD	1,846.0	22.0	4,512.4	0.0		310
	20	RIVER MARSH DRIVE	2,095.0	240	5,5867	0.0		34

NASSAU COUNTY PROPOSED LIST OF OVERLAY ROADS